6.6 General Form of the Equation

for a Linear Relation

General Form of the Equation of a Linear Relation

Ax + By + C = 0 is the general form of the equation of a line, where
A is a whole number, and B and C are integers.
—

FI;KHS' a‘; X "tNo.r qup:\"\on ce =

D y=mxtb  (Slope ypTnkeas For)
® y-y=mi~x)  (Poink=Slops Rré
3 ﬂduBox, = C  (Standard Rr.-)

é A’S"'B&"‘C =0 (GMQNI R“"\\



-

m Rewriting an Equation in General Form

Write each equation in general form.
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Determining the Slope of a Line Given
Its Equation in General Form
M

Determine the slope of the line with this equation: SW"’“\ -I ’ »
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Determine the equation of each of the following lines...

(Express equations in GENERAL FORM)

1. passing through the ordered pair (-2, 3) and with slope 5

2. passing through the ordered pairs (6, -1) and (O, -3)

3. passing through the point (1, 2) and parallel to the line 2x - 5y +1 =0
4. perpendicular to the line y = -4x +2 and having y-intercept 3.

5. passing through the points (-2, -7) and (-2, 4).



1. passing through the ordered pair (-2, 3) and with slope 5
j Y,= M (x- )
-3= S5(x+Y)

-3= Sx+/0
O= ‘5x~51,+ '3X

2. passing through the ordered pairs (6, -1) and (O, -3)
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3. passing through the point (1, 2) and parallel to the line 2x - By +1 =0
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4, perpenducular to the liney = 4x +2 and having y-intercept 3.
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5. passing through the points (-2, -7) and (-2, 4).
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Homework: Finding equation of line worksheet
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Solving Exponential Equations

Check your answers in the original equation.

Solve.
(a) 22:: = 28 (b) 33::—1—1 - 3x—-3 (C) 54::4—1 53x+9
(d) 10375 = 101:—9 < (E) sz-—sx i 52::*5 (f) 4x2——3x =, 4;1 5
1 x+2 1 x+3 :
(a) Solve <Z) = <§> (b) Verify your answer in part (a).

Equivalent equations have the same root(s). Which equations are equivalent?
(a_) 4x+2 S 2x+'5 (b) 252 5% L (C) 92:: 4 = Q7= 1

. Find the solution set. Verify.

(@) 27 =322%) (b) 3% = 27(3%9 RECKa (%)m

Solve each of the fpovﬁng.

x=2 x+1
(a) Dl :_21_ (b) X2 . 4x+2 (C) <£) o (%) e
(@) 9%+ = 8127%) @ 2524 7=71 () 251 x 47+ 1 % g5+ 1 = 128%
Solve. :
@) @59 =32 (b) 9% = 279 x (3 (o) 27 = (165~1) x 2%

How many times will the hands of a clo_ck cross between 08:00 and 20:00?

Solve and vér]fy.
(@ 5% —6(59+1=0 () 3227 —12029+1=0

Solve and verify.

(8) 5% — 626(5) + 625 = 0(b) 2% —2002%) + 64 =0 (o) 22"~ 33(2) +32=0

Solve and verify. . &
@ 9%—4(39+3=0 (b) 165 4(4)+4=0 (0 6*—~2(69+1=0
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